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If a man estimates his loss as 20% of the sell-
ing price, then his loss per cent is :

g whls Al 79T B ol fowd Jed =1 20% 3TAIG
FI B, dl IGH! B gfawd e—

40 50
(1) 20% 2)25%  (3) 5% (4) S %
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If the percentage of profit calculated on selling
price of an article is 20%, percentage of profit
calculated on cost price will be

afg fordt a%q & faska g W afiehed H W o &
gfaeraar 20 2, 9 %d Jod W Uiehed i T A9 H
gfaeraar g

(1) 16% (2) 24% (3) 25% (4) 28%
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The percentage of loss when an article is sold at ¥
50 is the same as that of the profit when it is sold
at ¥ 70. The above-mentioned percentage of profit
or loss on the article is

fhell o%g &l 50 & ® a9+ 9 B dleil g1 st Ffaeraan
T T S IH 70 T H 99d W B o oy i Fiawrdar
T I g% W IR o A T R gferdd g -

2 2

(1) 10% (2) 165% (3) 20%  (4) 225%
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The profit obtained by selling an article for ¥ 625
is same as the loss incurred if it is sold for ¥ 545.
The price at which it is to be sold to realize a
profit of T 65 on the cost price is

fordt a5 1 625 TAT H a9+ W I o1y 3H 545 T
o 9 R gH el 81 & R €1 39 fhE g WS
ST o @M ged W 65 T H1 a1H Ui &l ?

(1) T 640 (2) ¥ 630 (3)T 650 (4) I 660
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3
By selling an article at 2 of marked price, there

is a profit of 25% what is the ratio of marked
price and cost price.

~__n R i 5 3 NN
ERUES IR I N L g 25% R A1

Il 21 ifhd O iR T oI #1 3T &
1)5:3  (@3:5 (3)3:4 (4)4:3
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Nisha bought a number of oranges at 2 for a rupee
and an equal number at 3 for a rupee. To make a
profit of 20% she should sell a dozen for

fen 3 Tw U H 2 % feue 9 9 @ @ig SR Sa
& @R Tk 390 H 3 & feue 9 @l 20% 1 &A1 M
% fou 39t S 9@ fhad T9¢ § 9= =ifeq ?
(1) 6 (2)F 8 (3)F 10 (4T 12




/@ W atiendra ¢// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E06321 /

By selling 12 oranges for ¥ 60, a man loses 25%.
The number of oranges he has to sell for ¥ 100,
so as to gain 25% is

12 §R T 60 § =" W Tk AfH &l 25% 214 Bidl 2l
JEIHR 3H 25% o4 & T F 100 ¥ fohad Sl o= =f8w?
(1) 10 (2) 11 (3) 12 (4) 15
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A fruit vendor buys apples at the rate of 10 for ¥

100.How many should he sell for ¥ 100, so that
he makes a profit of 25% ?

U el fasdl T 100 & 10 99 @IEdl 21 25% o
& fau 39 T 100 & fohad 99 9=+ =ifeq ?
(1)5 (2) 6 (3) 7 (4) 8
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[f I would have purchased 11 articles for ¥ 10 and
sold all the articles at the rate of 10 for ¥ 11, the
profit per cent would have been :

IR H 10T & 11 F T 3 U T W 3% 11 T
% 10 i ST H S=al, d oy gfaed gid-

(1) 10% (2) 11% (3) 21% (4) 100%
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A house and a shop were sold for ¥ 1 lakh each.
In this transaction, the house sale resulted into
20% loss whereas the shop sale into 20% profit.
The entire transaction resulted in :

Ush HhM qUT Woh ShF H § Y% il Th ar@ Tl
H o€ TR0 | HRH W 20% i B 941 §RE W 20%
AT Wl | HA G H IR0 E—

(1) no loss no gain / 9 49 9 &I

. 1 1
[2)gamof%241akh/£frn@$qﬁ‘omam
1 1
(3)loss of ¥ 1, lakh / Emmﬁmﬁr

1 1
(4) loss of ¥ Elakh / EW w9 i 81
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A trader sells two bullocks for ¥ 8,400 each,
neither losing nor gaining in total. If he sold one
of the bullocks at a gain of 20%, the other is sold
at a loss of

Teh AGH § odd, Ydh? 8,400 T d=dl & 3R 39 W
T 9 FHE ®, 7 B Fedl B BT, Ak S S |
T &l 20% o9 W o= 8, a TR B fohal 8 W

= BT

2 2
(1) 20% (2) 185% (3) 14?% (4) 21%
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By selling 12 oranges for ¥ 60, a man loses 25%.
The number of oranges he has to sell for ¥ 100,
so as to gain 25% is

12 §dX T 60 H 99 W Teh At i 25% B Bidl 2
JSTER 39 25% o9 & Tt F 100 # fohde SR a= =few?
(1) 10 (2) 11 (3) 12 (4) 15
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A clock was sold for ¥ 144. If the percentage of
profit was numerically equal to the cost price, the
cost of the clock was

Th TSt 144 % | o=l T31 A 19 it giasTadar e
&Y 9 3% T HoId & R Bl dl TSl hl haqed fohan ar?
(1) T 72 (2) T 80 (3) T 90 (4) T 100
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A sells an article to B at a gain of 20% and B sells
it to C at a gain of 10% and C sells it to D at a

1
gain of 125 %. If D pays ¥ 29.70, A purchased

the article for
A TH I B %l 20% @19 W <=al 21 B 38 C &l 10%

FRC 39 D I 12%%@ﬂwéw%laa§ﬂnzrﬁ:D

43 29.70 93 fan 81, @ A7 3W T & &= 8 2
(1)F40 (2)F10 (3)F20 (4)F30
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When an article is sold at a gain of 20%, it yields
T 60 more than when it is sold at a loss of 20%.
The cost price of the article is

fordl a%g &1 20% M9 ¥ 9= W 3H 20% B T o=
F g § 60 TUY Afeh e €1 9% 1 HT god T
(1) T 200 (2)T 150 (3)T140 (4)T 120
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By selling 20 metres of cloth a man gains the sell-
ing price of 4 metres of cloth. The gain percent is

Teh AT ol 20 HIE FUST g9 W 4 X H9s & (oaeh!
e % SR SAfTeny W B ©, A sy 1 wfaed
foramT 872

(1) 25 (2) 30 (3) 35 (4) 20
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An article was sold at a profit of 12%. If the cost
price would be 10% less and selling price would
be ¥ 5.75 more, there would be profit of 30%. Then
at what price it should be sold to make a profit of

20% ?

Teh a5 12% o9 W d= 51 Il IHHT AT Hed 10%
%4 il 3R Tkt gea 5.75 TqC e giar, d@f a9 30%
B Tl 98JaR, 39 W 20% o9 9H & fou 39 foham
U H d9A1 d1feu?

(1)T 115 (2)Z 120 (3)T 138 (4)T215
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Some toffees were bought at the rate of 11 for ¥
10 and the same number at the rate of 9 for ¥ 10.
If the whole lot was sold at one rupee per toftee,
then the gain or loss in the whole transaction
was

# AMwAT 10F9C § 11 & 919 9 q1 a1 & fwar
10 ¥9¢ H 9 & 9 § ©EEl Wil Al R/ AUER I 1
TqU i Sl & e g &= T A, O @ ER H e e

2l Sdreu—

(1) loss of 1% / 1% =t &1

(2) gain of 1% / 1% T &4

(3) neither gain nor loss / 7 &9 9 Bl
(4) gain of 1.5% / 1.5% T &H



/@ W atiendra ¢// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E06321 /

3
A shopkeeper sold 2 part of an article at 20%

gain and remaining on its cost price. W?hat is
his actual gain in this transction ?

3
T TRTRR A T oG Rl - T 20% T W S 3R

I 9T SHb NG Hod W o= A1 GEIER 3@ P 9R
T 391 arfas oy fhaT @12
(1) 10%  (2)15%  (3) 20%  (4) 25%
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A merchant has 1000 kg sugar, part of which sells
at 8% profit and the rest at 18% profit. He gain
14% on the whole. The quantity sold at 8% protfit
IS :

T AR o 9 1000 TR =i+ 21 S ° e femm
98 8% Y W AT T 18% ol | o=l g1 | | |
S8 14% 9 BIa1 € df 8% o9 W fehaH =t s=?
(1) 560 kg. / . (2) 600 kg. / e
(3) 640 kg. / T (4) 400 kg. / T
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